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PART Il = FIXED-INCOME DERIVATIVES AND MIODELS

5. Basic Concepts — part Il [2.5 points]

a) What is the meaning of FRA;,,? Specify when this instrument is settled.
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b) What are the credit risk components?
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c) Please classify the veracity of the following statements:
[True or false: + 0.25 values for each right answer;-0.15 values for each wrong answer]
1. Buying a put option on 3 months euribor future contracts allows us to fix a maximum value
for the future value of the 3 months euribor rate.
2. The yield-to-put is calculated assuming the bond’s option will be exercised.
3. The issuer of Floating Rate Note (FRN) may hedge the interest rate risk trough a floor.
4, We can hedge the risk of a rise in interest rates by buying 3M euribor futures contracts.

5. The value of a receiver swaptions is positively related with the interest rates.
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6. Credit default swaps are traded in exchanges.
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8. Bond Options [2 points]

Consider the following /attice for the 1 year interest rate:

2,09%
1,94%
1,5% 2,01%
1,86%
1,95%
t=0 t=1 t=2

a) Calculate the value of a bond that matures in 3 years, with an annual coupon of 1.9% and pays par at maturity.
b) Calculate the value of a put option on the bond, with expiry date 2 years from now, 100% strike price and can

be exercised at the end of the first and second year.
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